PR Received dated 25 Jul 2016 - 31 Jul 2016

Offices Supplies & Consumble Parts

Post Dated 1 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11605262 26-Jul-2016 CONZZ08796 |RAIN TIGHT FLEXIBLE ~ CONDUIT 2" (GRAY) 15.00 Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 8-Aug-2016
2 11605973 28-Jul-2016 CONZZ09141 |INSULATED TERMINAL RING RF2-6 (2.5 SQMM.) 100.00( PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 8-Aug-2016
3 11605627 28-Jul-2016 CONZZ09142 |INSULATED TERMINAL RING RF2-8 400.00| PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 8-Aug-2016
4 11605754 29-Jul-2016 CONZZ30241 |POWER PLUG IP67 3P+N+E 32A 400V WPCW532-6 2.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 8-Aug-2016
5 11605262 26-Jul-2016 CONZZ31301 |JUNCTION BOX STAINLESS SIZE 250x200x150 MM WITH ACCESSORIES 2.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 8-Aug-2016
6 11606271 | 25-Jul-2016 CONZZ31935 (F)IFL"EE'ﬁ EPOXY RESIN, IN 2.5 KG KIT B-2-203 (PART A+B) FOR REPAIR COIL 1.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT @ssi-steel.com INCOMPLETE 8-Aug-2016
7 11606294 29-Jul-2016 CONZZ18229 |PAPER PARAFIL R30 D.1000 MMx200 M 30.00| Roll JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
8 11606109 28-Jul-2016 CONZZ25407 |wmur&asu 2w 50 MM, 640.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
9 11601836 28-Jul-2016 CONZzZ25503 |GASKET P/N.10.G12.180051 FOR BRAKE ASSEMBLY OF FANTUZZI 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
10 11606410 29-Jul-2016 CONZZ29154  |RT-28 SEAL I/S NEOPRENE HARDNESS 60-65 SHOREA 2.00| PIECES JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
11 11606139 28-Jul-2016 CONZZ29962 |PAPER LAMINATE PE 4x3/CA105/PE20x1700MM.(2SIDE) 51,000.00 Sl\jﬂ:tar;i JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
12 11603305 25-Jul-2016 CONZZ30035 |PLEXIGLASS TUBE OD=110 mm. ID=100 mm. L=1400 mm. TH=5mm. 1.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
13 11606426 29-Jul-2016 CONZZ31502 |CALDE CAST Q-126 MP FOR REFRACTORY IN FURNACE 2,000.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
14 11606364 28-Jul-2016 STA3000412 |ROOFING "SSV.TYPE 600" SIZE 600x14000x0.5 mm. (COLOUR : BLUE) 190.00( PIECES JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 8-Aug-2016
15 11606554 29-Jul-2016 CONAZ06353 |GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 225.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
16 11606311 28-Jul-2016 CONAZ14714 |GREY CLOTH (#1diu) 1 Auena 10 wes 2.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
17 11606389 29-Jul-2016 CONZZ06148  |PAINT BRUSH 3" 80.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
18 11606507 29-Jul-2016 CONZZ06471 |GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
19 11606510 29-Jul-2016 CONZZ06501 |WELDING ELECTRODE"GEMINI"AWSE7016 DIA.4 MM LD52 60.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
20 11606298 28-Jul-2016 CONZZ09702 |ELECTRICAL TAPE 3M #33 ama 3/4 @) x 66 wa 88.00|  Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
21 11606297 28-Jul-2016 CONZZ13846 |RUBBER SHEET 1000x6000x3 MM 2.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
22 11606122 28-Jul-2016 CONZZ14826 |GASKET SHELLAC COMPOUND "INDIAN HEAD" P/N 5 J (80021) 29.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
23 11606416 28-Jul-2016 CONZZz31243 astanufanls 2we wun 2.0 . e73 10.5 @iy, A9 5 2. 60.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
24 11605755 29-Jul-2016 STA2000174  |znotusadnsenu 24"x1.75 30.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
25 11606371 29-Jul-2016 STA2001062  |aayuazwia 1"(MODEL 4507 N-L SIZE 35 mm) "SOLO" auavive 1.00|  Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
26 11606359 28-Jul-2016 STA3000083 |s1eene awm 1" 25.00| Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
27 11605756 29-Jul-2016 STA4006482  |envuansadnsenu 24"x 1.75" 30.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
28 11605766 29-Jul-2016 STA4006726  |Widnsenu ((flasiu) 3.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
29 11605765 29-Jul-2016 STA4006729  |Tatdnsanu 3.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
30 11605760 29-Jul-2016 STA4006732  |auilusadnsenu 3.00[ Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
31 11605761 29-Jul-2016 STA4006733  |usslailusadnsenu 4.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
32 11605762 29-Jul-2016 STA4006734 sansaududainsadnseu  (wav) 3.00f Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016

Page 1 of 3




PR Received dated 25 Jul 2016 - 31 Jul 2016 Offices Supplies & Consumble Parts Post Dated 1 Aug 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11605763 29-Jul-2016 STA4006735 sansaududaiesadnsenu  (wih) 3.00f Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
34 11606344 25-Jul-2016 STA8888888 [ty 2 T auia 1 &ns 24.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 8-Aug-2016
35 11606466 27-Jul-2016 STA2000004  |NAME CARD AW wuy 2 & 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 8-Aug-2016
36 11606466 27-Jul-2016 STA2000004  |NAME CARD W wuy 2 § 100.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 8-Aug-2016
37 11605600 28-Jul-2016 CONZZz08177  |INSULATED TERMINAL SPADE (Y) YF 2-4 100.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
38 11606399 29-Jul-2016 CONZZz17987  |V-BELT XPA 1400 FOR VEHICLE 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
39 11606113 28-Jul-2016 CONZZ21670 Ezml'\lr?zozT VALVE FAIR 3/8" 1 TAIL FOR AIR CONDITION SYSTEM OF 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
40 11606320 25-Jul-2016 CONZZ29921 ﬁg?'izs_??SSGHRLZ“DC (0D021601300C) FOR PARKING BRAKE FANTUZZI 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
41 11606450 29-Jul-2016 CONZZ30100 |ELEMENT ASSY POS.5 P/N 48717-99003 5.00f Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
42 11606424 28-Jul-2016 STA9999999 |malamsaded 2 Hu 2uia 1/2x440 u. 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
43 11606424 28-Jul-2016 STA9999999 se'laesadnd 2 du 2we 1-1/4x1310 uu. 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
44 11606429 29-Jul-2016 STA9999999 [fimasinlviuuaina’ 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
45 11606434 29-Jul-2016 STA9999999  |Weauuwas hino sing hitech 1.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 8-Aug-2016
46 11606551 29-Jul-2016 CONAZ00003 [COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fiu (25 KGS./BAG) 700.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
47 11606382 28-Jul-2016 CONAZ05747  |DUST&MIST RESPIRATOR TYPE COTTON (winAinrinsasayn) 5,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
48 11606272 28-Jul-2016 CONZZz05747 |DUST MASK 500.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
49 11606390 25-Jul-2016 CONZZ05925 |OXYGEN PURITY 99.5% (&asiaefi Ju,uflau,@ wnesau esogavine laitdu 5 1) 51.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
50 11606354 25-Jul-2016 CONZZ06485 :F;JC))PANE GAS (LPG)=48 KGS (floiasfl Ju,dau, 1 nosay asvaavine v 12.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
51 11606531 29-Jul-2016 CONZZ09232 |COTTON GLOVE 5,000.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
52 11606290 28-Jul-2016 CONZZz25972 |COMPOSITION PAPER (2 COPY) SIZE 9"x8.5" (v1u 2 &) 6,000.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
53 11606309 28-Jul-2016 CONZZ30508 |W1giiu "NO.MOP 10" 13.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
54 11606413 28-Jul-2016 CONZZz30514 [lUinneaau (adhenun) 13.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
55 11606027 28-Jul-2016 STA2000004  |NAME CARD AW wuy 2 & 300.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
56 11606443 28-Jul-2016 STA4006755 guly Talgnlunsinalsenu 1,200.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 8-Aug-2016
57 11606430 28-Jul-2016 STA1000552  |nszan A3 500 EA/Ream 5.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 8-Aug-2016
58 11606324 25-Jul-2016 STA1004267 |TONER CARTRIDGE CE505A 4.00[ box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 8-Aug-2016
59 11605701 28-Jul-2016 CONAZ08041  [BOLT HEX.HEAD M30-3.5x140 MM(CLASS 12.9) 30.00( Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
60 11606383 29-Jul-2016 CONZZz03519  [BALL VALVE 1 1/2"#BRASS WP.400 PSI.(END THREADED) 1.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
61 11606384 29-Jul-2016 CONZZ05663  [BALL VALVE 1"#BRASS  WP.400 PSI.(END THREADED) 3.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
62 11606270 25-Jul-2016 CONZZ06509 |ANGLES STEEL JIS G 3192 DIM 50x50x5 mm L=6 Mtr 20.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
63 11605700 28-Jul-2016 CONZZ06734  |FLAT HEAD HEX.SOCKET  M10-1.5x40 mm. 15.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
64 11606099 28-Jul-2016 CONZZz06787  |BOLT HEX.HEAD (CLASS 8.8) M12-1.75x50 mm. 80.00[ Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016

Page 2 of 3




PR Received dated 25 Jul 2016 - 31 Jul 2016

Offices Supplies & Consumble Parts

Post Dated 1 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11605931 28-Jul-2016 CONZZ06834 LOW HEAD SOCKET CAP SCREWM12-1.75x25MM. FOR SKM#1,2 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
66 11606102 28-Jul-2016 CONZZz08015 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x80 mm. 160.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
67 11605830 28-Jul-2016 CONZZz08020 BOLT HEX.HEAD (CLASS 8.8)M22-2.5x80 MM 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
68 11605831 28-Jul-2016 CONZZz08021 BOLT HEX.HEAD(CLASS 8.8) M22-2.5x120 mm. 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
69 11605824 28-Jul-2016 CONZzZz08301 NYLON INSERT LOCK NUT M20-P.=2.5 mm. 150.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
70 11605921 28-Jul-2016 CONZzZz08670 FLAT HEAD HEX.SOCKET 5/16"-18x1" (P-008154) FOR STRAPPING M/C 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
71 11606467 29-Jul-2016 CONZzz09174 ANGLES STEEL JIS G 3192 DIM 50x50x4 mm L=6 Mtr 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
72 11606120 28-Jul-2016 CONZzz15501 SOCKET HEAD CAP SCREW  M10-1.5x35 mm. 220.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
73 11606293 28-Jul-2016 CONZZ18718 §8$KET HEAD CAP SCREW  M10-1.5x35 (MAT.STAINLESS) FOR MOTOR 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
74 11605847 28-Jul-2016 CONZZz19037 NYLON INSERT LOCK NUT M22-P = 2.5 MM 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
75 11606292 28-Jul-2016 CONZzZz19711 (S)?J'CI:'KI%TBEIIEEAD CAP SCREW M8-1.25x30 MM.(STAINLESS) FOR MOTOR RUN 130.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
76 11606398 29-Jul-2016 CONZZz19738 BALL VALVE 2"# (STAINLESS) WP.400PSI (END THREAD) "KITZ" 3.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
77 11606365 28-Jul-2016 CONZZ20618 STAINLESS STEEL PIPE DIA 2-1/2" SCH40 SUS304 #SEAM 1.00( PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
78 11606366 28-Jul-2016 CONZZ20620 ELBOW 90 ' STAINLESS SUS304 DIA.2 1/2"SCH40#SEAM(BW) 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
79 11606367 28-Jul-2016 CONZZz20762 UNION F/F SUS304 DIA 1/2" SCH40 (BW) 6.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
80 11605618 28-Jul-2016 CONZZ20941 BOLT,NUT,SPRING WASHER M8-1.25x35 mm.(STAINLESS) 50.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
81 11606114 28-Jul-2016 CONzZz21023 BOLT,NUT,WASHER,SPRING WASHER M12x1.75x30(STAINLESS) 10.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
82 11605964 28-Jul-2016 CONZzZz21894 UNION F/F CARB DIA.2" -11G (002709 ) 15.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
83 11606111 29-Jul-2016 CONZZ21972 |SOCKET HEAD CAP SCREW  M6x1.0x35MM(STAINLESS) 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
84 11606291 28-Jul-2016 CONZzZz21972 SOCKET HEAD CAP SCREW M6x1.0x35MM(STAINLESS) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
85 11605843 28-Jul-2016 CONZzZz22054 BOLT HEX.HEAD M10-1.5x30MM STAINLESS 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
86 11606110 28-Jul-2016 CONZZz22054 BOLT HEX.HEAD M10-1.5x30MM STAINLESS 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
87 11606367 28-Jul-2016 CONZZz22767 T-WAY SUS304 DIA 1/2" SCH40 (BW) 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
88 11606108 28-Jul-2016 CONZZz28642 BOLT HEX.HEAD M20-2.5x230 mm.(CLASS 8.8) 26.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
89 11605721 28-Jul-2016 CONZZ30410 BOLT HEX.HEAD+NUT+SPRING WASHER M18-2.5x170 MM.(HOT DIP.ZINC.) 102.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
90 11605891 28-Jul-2016 CONZZ30519 ?gtJADsggll_g_g)Ngg&iT-EISEDWASHER M36-4x560 MM. THREAD 100 MM. 4.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
91 11604533 28-Jul-2016 CONZZ30732 STAINLESS STEEL PIPE DIA.24" SCH10 XL=6MT SUS304#SEAM 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016
92 11605994 28-Jul-2016 CONZZ30899 BOLT HEX.HEAD M30-3.5x60 MM. (FULL THREAD) CLASS 10.9 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 8-Aug-2016

Page 3 of 3




